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SECTION II (30Marks)- Answer any THREE questions

14. The figure beloi represents a picce of land consisting of a trapezoidal region and a semi-circular end of

radius 87.5m
250m
200m
a) Calculate
(i)  The perimeter of the land (3marks)
B g e = YXZBx8TS ™ e
A= 115450 b= A IR o Pe Te950n o
a= /33125 b= 133.5m —_—
o= 1$2:002™M  Redimeter
= 182:002 + 250-H37:51200
(i)  The area of the land in hectares (3marks)
= g =
k= ipbeapedning | “u= OV 0
= Jox 450 R 1S + A: i e 0000
ot -
= 39,355 b dhess = 5. 110k25 ha

t 12,0325

- e 5 1,406 25 My
b) A private developer bought this piece of land aFa price of KshAD0,000 per hectare and later sold the

all land at 2.25 million shillings. Determine;
()  The price at which he bought the whole piece of land (2marks)

BP= 5140625 X 406000

= Les 2,056,250

(i)  His percentage profit (2marks)
P C . 5
% Pofit = (250,000 = 21056250 K100 v'
240 56,250 :
. = 9eiax (o v

—_—
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15. The comer points A, B, C and D of a ranch are such that B is 8 km directly East of A and C is 6 km from

B on a bearing oft30°. D is 7 km from C on a bearing of 300°
(a) Using ascale of 1 cm to represent 1 kmy draw a diagram to show the position of A, B, C and D.

Suetoh etk
>
G
Al Bew o
b) Use the scale to determine the;
()  compass bearing of A from D. (1 mark)
= Sac’wW
(i) distance BD in kilometers. (2 marks)
2o = q2omx Vi), v
= 92km Eoikm
(iii)  bearing of D from B (1 mark)
340L o N2'wW v
(iv)  perimeter of the ranch in kilometers. (2 marks)
Ap= lokw T 0w P= 3l ky Folkm

Pecimetey = g+ L+ 7+ 10

16.3) A straight line L;, whose equation is 3y — 2x = -2 meefs the x-axis at R. Determine the coordinates of
R. (2 marks)
AeX-ans, Y=o g
) o G e T
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b) A second line L, is perpendicular to Ly at R. Find the equation of Ly in the form y = mx +c, where m

and c are constants. (3 marks)
M=% wmm--! ““5 o> (xY)
E Yo _ %
gty =1 L2 X-.’ .
V=2 o b= -2 080
= 2

Y= »fo% va

a) A third line L; passes through (-4, 1) and is parallel to L2.Find:

(i) the equation of L in the form y = mx +c, where m and ¢ are constants. (2 marks)
Wy=tlg= -2 Y-1= - Zx—¢
Using 410 (KiY) o s 5 A
Z
lj ‘ - / e S
\/
’%‘* i
3 &
-1z /wa)
(ii) The coordinates of a point S, at which L; and L intersects (3 marks)
B ey e nx-osry |97 K%
b LB REE Y= -2
> Fx-5=9 R e -
A \atprcection A ) r==2 ST
Zixoh = ~ER-S | h 9= BEHAA
17. A cylindrical tank of diameter 3.6m and height 2.5m internally is two-thirds full of juice.
a) Calculate the volume Oth:J\llCC in litres. (3 marks)

N= 5’;( XISXIS

= b AT W
lor = tooo L

S Vo2 16,97 143X 1000 V7
= 16,9743 0

—_—
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©) The juice is packed in small packets measuring Sem by 5¢m by 12cm. A packet retails at Kes, 40.

Calculate;
) the capacity of each packet in cm® (2 marks)
V= X Bx 12 an” v~
= 480 ot
i) the number of full packets obtained (3 marks)
I'ber = 480cnt =480 ml
e o “wo Foll pas = 25,357
el —_—
oolo-of pas = 1774z -
04
= 35,357.145
iii) the amount of money realized from the sale of the juice (2 marks)
Lales = 35357 X40 v~
= ke | 4ig 280
18. Triangle PQR has vertices P(3,2), Q(-1,1) and R(2-1).
(a) Draw PQR on the grid provided. (Imark)

(b) Under a rotation the vertices of P'Q'R" are P'(1,4), Q'(2,0) and R'(4,-1). Find the centre and angle
of rotation using points P and Q. (4marks)

(¢) Triangle PQR is enlarged with scale factor 3 centre O (0,0) to give triangle P°QR2. Draw triangle
'Q’R? and state its co-ordinates. (2marks)

(@) Triangle P'Q'R" undergoes reflection in line y == to give triangle P’Q’R®. Draw P°Q’R® and state
its coordinates. (3armks)
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ANESTAR SCHOOLS JOINT EXAMINATION ¢
END TERM 1, 2022
FORM TWO
MATHEMATICS

2HOURS
INSTRUCTIONS TO CAND{DATES

« Write your name and admission number in the spaces provided at the top of this page.

o Answer ALL questions in scction I and ONLYTHREE questions in section IL

« All answers and workings must be written on the question paper in the spaces provided below cach
question.

« Show ail sicps in the calculations, giving your answers at each stage in the spaces provided.

« Non-programmable silent electronic calculators and KNEC mathematical tables may be used, except
where stated otherwise

SECTION I

Question |1 |2 |3 |4 |5 |6 [7 [8 |9 [10 [11 [12 [13 [TOTAL
Marks ‘

SECTION II

Question | 14 15 16 17 18 TOTAL

Marks

‘GRAND TOTAL
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SECTION I (40 Marks)- Answer all questions in this section.
(2 mark)

1. a)Usethe Y,sblc of cubes to evaluate 23.. 5

235 ‘(235)(10) v
= N2 ‘11‘5XAO

= m,"ﬂ% o OND

b) Find the cube root of 3.375 using prirue factor method
—  [&15 _ ¥5 oo MEas = B
Lo

%\/3615 —= =
IO 0 >
= 5

3375 = @x37<3 x@r5%5+v"

%’?’ﬁs —=IxE =15,
(4 marks)

25 2

645

2. Evaluate using the table of reciprocals: T
=i Sl
> s Gb g2 K16 ) + 2(EH5Xe s

*642 o: u%j‘//
wbk5 = 0:1550
2500 uggx 0y +2(o- 155010 )

— 24tk 0,030 Y

29931~
Sl
(2marks)

3. Simplify the expression Z:f;f

sioe ek 3

TE e BN
= 2y

= |y

3y !
2 20 e 3R
> "=
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4. Use logarithm tables to evaluate: :,“‘WS 2 (3 marks)
_Mog. lbtey o
24y |2:0%8 Akilog> 0 X 1o
X355 15531 ek
364BT_ w9E = 2445

=745 |2.8722 /o eeativns
e o,T}c‘,sx‘/L

0.3%%3
5. Solve for x &y given that 2% x 8%+ 4= 64 — (3 marks)
%fxfﬁ—' F_ B | o =B
&3 6
=02 =2

(,
o b

56, A bank in Kenyabuysand sells foreign currencies as follovis.

Currency Buying(®sh)  Selling(Kshs)
ISterling 13420 13465
1USdollar 7140 7184

A touristarrived in Kenyawith 4500 US dollars. He converted all thedollars to Kenyashillings at thebank.
While in KenyahespentKshs 215,000 and then converted the remainingamount to sterlingpounds in the

same bank. Calculate the amounthereceived in sterlingpound. (3marks)
£ b s res to £
<4500 X740 = loppeo
= Wes, 321,300 ) 34 65
Less Expenditure : = £ 78745
= 321,300~ 215000 =
= Mes lo6 300
7. The length of an arc of a circle is 8.8cm. If the arc subtends an angle 144° at the centre, calculate;
a)the radius of the circle (Take 7 = 22/7) (2 marks)
L=g-gom, D= 144" Y=3 e 22lTE
%= o ERXY S 6236
360 Y= Z5cm \/
= 28 x360 % ) —_—
= 2EX 0

g g 202 3
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b) the area enclosed by lhe arc and the radii (2 marks)

8
A= T A

= W #x;/xas 7
36@

A= 1,5.4cm1\/

8. Determine the number of sides of a regular polygon whose sum of interior angles is 1440°  (@marks)

Sym = 120 (n-2)
14@ = 10(n-2)
e 4

n= 8tz n=lo sides v/

9. A shopkeeper made a loss of 20% by selling a trouser at Sh. 960. What profit would he have made ifhe

had sold it at sh.1500 (3marks)
D'/o £ Bp=§-P If sp= kes. 500 300
5 Profi l5zm —1200 =
e x &P = 6o 7 e~
mD = oSt
8P = b0 x Lo S
%0

= Mes. 1200 va

10. A student spent 2/, of his pocket money on stationeries, a third on food-stuffs and 5/g of the remainder
on transport. I he had Ksh. 150 left, how much pocket money did he have at the beginning? - (3marks)

Lot Tocker Money = X ,g
5 X
, Stat. +Fed = XY KX Toml 3 Brtx=
- 3y Qw;vax—f.X
= ,ﬁ o
Taas. = % (x-%x) Rt == PO
53 2!
= 5/5%% = e
:5/21)(\/ x:m,l7oso/
i
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11. Two bells ring at intervals of 35 and 42 minutes respectively. The bells ring together at 8:48 a.m.

Determine the time when the bells will ring tf)gc!.her again. - {3 marks)
LM 35 4o 22 o Zhr Zowin v
853 6o
5 oss C, Time = BB T am.
2l T v f"3:3u
L VTS
Voo beme 3r5x] +t 1«60
= e Min 12 1% oy
—
12. A two-digit number s 18 more than the number formed by reversing the digits. If the sum of the digits is
10. Find the number. (3 marks)
Ley o be XY 1 (Ax-94y=15%)
U (loX+y) = (loy+x) =18 1T x+y=to
o+~ oyt Ny = D v
lox+Yy-10y-x = 18

le‘ély:"l»u*(\) o ?ﬁ:u 5 X=b
Ao, x+Yy= Io._ﬁ\i;)} by, = 4

9
Solving Simylenesosly’, Mo. XY is é”/:/-;\/

13. Evaluate; (3 marks)

clorst datey Lt o1
14+ 30f53-37 13> qu Lot
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